Sample Exam 4 - Solutions

1. (a) l(z) = —%:c—i—%

(b) dy = —0.01875

1
2. Using the linear approximation, I(z) = 777 + 2, 1(27.1) = 3.0037, whereas the actual value
(27.1)1/3) = 3.003699, so the linear approximation is a (slight) overestimate.
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3. height = 2 x radius and radius = —————

(2n(1/3))

4. radius = perimeter/8.71, height = .205 % perimeter

dA
5. o at radius = 60 is 2407 ft2 /s

dv
6. o M height = 10 is 1257 ft3/m
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7. (a) ?x7—§z3+§x2+x+C

1
(b) - —2t+C.

3 8
28y(1/4) — Zy(4/3) + gy(3/2) + C

7.5
12+ 4(e? —e7?)



